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E+n x 10 E+3  x 1000
(ke/ ) (ko/ )

1
2 6.7E+1 67.0 67.0
3
4 3.8E+0 338 6.0E+0 60 98
5
6 14E+3 14000 13E+4] 13,0000 14,4000
7 1.8E+1 18.0 1.7E+3 1,700.0 1,718.0
8 4.6E+1 459 11E+2 110.0 155.9
9 15E+1 150 9.0E-1 09 159
10
11 16E+2 1628 30E+2 3002 4630
12 37E+3 36801 22E+3 21701 5,850.2
13
14 33E+3 33100 4.4E+0 44 33144
15 46E+2 460.0 43E+2 4340 894.0
16 4.0E+2 401.4 1.0E+4 10,000.0 10,401.4
17 9.0E+3 9,0023 31E+1 306 9,032.9
18 18E+1| 3.2E+0 212 5.0E-1] 2.2E+0 2.7 239
19
20
21 6.3E+1 63.0 21E+2 2100 2730
22 1.3E+3| 1.0E-1 1,3153 4.0E+2 400.0 1,715.3
23 17E+2 166.4 6.6E+1 66.0 2324
24 21E+2| 10E+0 2110 20E+3 2,006.6 22176
25 1.8E+2 180.1 9.1E+1 91.2 2713
26 23E+1 234 8.0E-1 038 24.2
27 8.7E+1 86.8 7.0E-1] 14E+1 14.8 101.6
28 88E+2| 30E+L 9073 85E+0 85 91538
29 8.8E+1 88.0 88.0
30
31
32
33 34E+2 335.0 29E+1 29.0 364.0
34 20E+3| 8.0E+0 2,0080 48E+1 48.0 2,056.0
35 13E+2| 24E+2 3700 3700
36
37 25E+2 2500 2500
38 30E+2| 30E+2 6000 8.0E+0 80 608.0
39
40 44E+4| 440000 44,000.0
41
42
43
44 6.3E+1 63.0 37E+2 3700 4330
45
46
47

25E+4] 58E+2 250008 |  12E+0| 75E+4] 7516638 100,266.6
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